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Physics 12: Dynamics Review

1. The force of friction on an object is always in the direction opposite the object’s acceleration. (T/F)

2. The normal force on an object is always equal to the object's weight. (T/F)

3. The normal force on an object is always equal to the downward force on an object (T/F)

4. Two objects must always apply equal magnitude forces to one another. (T/F)
5. The action force and reaction force act on the same object. (T/F)
6.  The magnitude of the tension force is equal at all points along a tensed string. (T/F)

7. An object is in EQUILIBRIUM if  ___________________________________________________.
8. What are the units of INERTIA?
9. An object must have a force applied in the direction it is moving. (T/F)
10. Friction always points uphill for an object on an incline. (T/F)
11. 
3. Find the frictional force necessary to keep a 450g block from sliding down a ramp inclined at 56o.

14. Find the minimum coefficient of static friction for Q13.

15. Find the minimum coefficient of static friction to keep a 1 255 000kg block from sliding down a ramp inclined at 56o.

16. A physicist plots a graph of Fnet vs a, for the motion of a very complicated and expensive thing.  What does the slope of his graph represent?

17. A 25.0kg bag of mashed sweet potato and 3/8”  #6 Phillips head wood screws is dropped from a 5.00m high building.  0.155s passes from the time the bag reaches the ground until it stops. What average force does the ground apply to the bag?

19. The system shown accelerates at 0.60m/s2.


a. Find m if there is no friction.

 
b. Find m if μ is 0.25.
  m

c. Find FT if there is no friction


d. Find FT if μ is 0.25
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20. A 75kg burglar wishes to escape from prison by sliding down a rope made of bed-sheets and underpants. The rope can only withstand 705N of tension before it breaks. With what minimum acceleration must the jailbird slide down in order to be supported by the rope? If the widow is 14.0m above the ground, what is the escapee’s speed as he hits the ground, assuming minimum acceleration?

21. 






Find the tension in the string joining the two carts.

22. If the force of friction on a block sliding on the surface of the Earth is considered the action force, what is the reaction force?

23. The normal force acting on a book at rest on a horizontal table top is considered the action force. What is the reaction force?

24. A 27kg block is released from rest on an inclined plane. The angle of inclination is 39o and the coefficient of friction between the block and the plane is 0.30. What is the speed of the block 4.0s after it is released?
26. A sport-sock, filled with toasted coconut and dried banana chips is at rest on a table top. If the force of gravity on the sock is considered the action force, what is the reaction force?

27. The force of kinetic fiction is always opposite the direction of relative velocity between two surfaces. (T/F)
28. 


28N

The force of tension in the string is 22N. Find the coefficient of friction between the 5.0kg mass and the ground.
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